Cost Accounting      Quiz Chapter 4        Name________________________________________

"You will only be remembered for two things: the problems you solve or the ones you create."  --Mike Murdock

1.
Which of the following statements about normal costing is TRUE?


A.
Direct costs and indirect costs are traced using an actual rate.


B.
Direct costs and indirect costs are traced using budgeted rates.


C.
Direct costs are traced using a budgeted rate, and indirect costs are allocated using an 
actual rate.


D.
Direct costs are traced using an actual rate, and indirect costs are allocated using a 
budgeted rate.

2.
 In a normal costing system and a 2-account approach to MOH, the Manufacturing Overhead Control account


A.
is increased by allocated manufacturing overhead.


B.
is credited with amounts transferred to Work-in-Process.


C.
is decreased by allocated manufacturing overhead.


D.
is debited with actual overhead costs.

3. 
All of the following increase (are debited to) the Work-in-Process Control account EXCEPT:


A.
actual plant insurance costs.


B.
direct materials.


C.
allocated manufacturing overhead costs.


D.
direct manufacturing labor.

4. 
What is the appropriate journal entry if direct materials of $50,000 and indirect materials of $3,000 are sent to the manufacturing plant floor?

5.  If actual indirect-cost rates were calculated monthly rather than annually, then for the month of February with only 28 days:

A.  variable indirect-cost rates would be lower.

B.  total indirect-cost rates would be higher.

C.  fixed indirect-cost rates would be lower.

D.  monthly output would be higher.
6. What is the “general formula” for allocation of indirect costs under standard costing?

7. Moira Company has just finished its first year of operations and must decide which method to use for adjusting Cost of Goods Sold.  The company uses a normal cost system to allocate indirect costs.  The following information is available:



Budgeted machine hours
1,000



Actual machine hours
1,100



Budgeted MOH

$395,454.54



Actual MOH

$425,000.00

Ending $ balances in the selected accounts were:



Raw materials

$    5,000



Work-in-Process
    40,000



Finished Goods

80,000



Cost of Goods Sold  
  
680,000


Required:


a.
Prepare a journal entry to write off the difference between allocated and actual overhead directly to Cost of Goods Sold. Be sure your journal entry closes the related overhead accounts.


b.
Prepare a journal entry that prorates the write-off of the difference between allocated and actual overhead using ending $ account balances.  Be sure your journal entry closes the related overhead accounts.

1.
Which of the following statements about normal costing is TRUE?


A.
Direct costs and indirect costs are traced using an actual rate.


B.
Direct costs and indirect costs are traced using budgeted rates.


C.
Direct costs are traced using a budgeted rate, and indirect costs are allocated using an 
actual rate.


D.
Direct costs are traced using an actual rate, and indirect costs are allocated using a 
budgeted rate.

2.
 In a normal costing system and a 2-account approach to MOH, the Manufacturing Overhead Control account


A.
is increased by allocated manufacturing overhead.


B.
is credited with amounts transferred to Work-in-Process.


C.
is decreased by allocated manufacturing overhead.


D.
is debited with actual overhead costs.

3. 
All of the following increase (are debited to) the Work-in-Process Control account EXCEPT:


A.
actual plant insurance costs.


B.
direct materials.


C.
allocated manufacturing overhead costs.


D.
direct manufacturing labor.

4. 
What is the appropriate journal entry if direct materials of $50,000 and indirect materials of $3,000 are sent to the manufacturing plant floor?


Work-in-Process—control 
$50,000

MOH—control
3,000


Materials—control
$53,000

5.  If actual indirect-cost rates were calculated monthly rather than annually, then for the month of February with only 28 days:

A.  variable indirect-cost rates would be lower.

B.  total indirect-cost rates would be higher.

C.  fixed indirect-cost rates would be lower.

D.  monthly output would be higher.
6. What is the “general formula” for allocation of indirect costs under standard costing?

IDcosts = budgeted IDcost rate per unit of allocation base  times budgeted use of base

7. Moira Company has just finished its first year of operations and must decide which method to use for adjusting Cost of Goods Sold.  The company uses a normal cost system to allocate indirect costs.  The following information is available:



Budgeted machine hours
1,000



Actual machine hours
1,100



Budgeted MOH

$395,454.54



Actual MOH

$425,000.00

Ending $ balances in the selected accounts were:



Raw materials

$    5,000



Work-in-Process
  40,000



Finished Goods

80,000



Cost of Goods Sold  
680,000


Required:


a.
Prepare a journal entry to write off the difference between allocated and actual overhead directly to Cost of Goods Sold. Be sure your journal entry closes the related overhead accounts.

b.
Prepare a journal entry that prorates the write-off of the difference between allocated and actual overhead using ending $ account balances.  Be sure your journal entry closes the related overhead accounts.

Answer:


a.
Manufacturing Overhead Allocated 

$435,000




Cost of Goods Sold


$  10,000




Manufacturing Overhead Control


425,000


b.
Work-in-process 
$  40,000
5
%
  x $10,000
 = $ 500



Finished goods 
80,000
10

x $10,000
 = 1,000



Cost of goods sold
680,000
  85

x $10,000
 = 8,500



Total              
$800,000
100
%



Manufacturing Overhead Allocated

$435,000




Work-in-Process


     $    500




Finished Goods


 1,000




Cost of Goods Sold

 
  8,500




Manufacturing Overhead Control


425,000
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